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Question No. 1

AT, TAGAAT 3 ST Hrovow & & 7
A) ARG it B) WHIET il
C) AR wifa D) &4 sifd

The inspiration of Liberty, Equality and Fraternity was derived from-

A) Indian Revolution B) French Revolution
C) American Revolution D) Russian Revolution
Answer Key : B Your Response : Not Answered

Question No. 2

A seTae UsY P 3R Q, s &F Fr -3 FAA: 10 we 3N 12 =5 FH oW gha & =
M3eAT 93T R &, St &% @ 30 el 7 qff g & @rell & Wbl g1 I Wl ursw vs @

@l ST 8, & &F Al qff e & A # e a7 or@am?
A) 6 E¢ 40 fAse B) 6 =¢ 30 fAwic
C) 14 =t 45 fasc D) 5 &< 30 fAee

Two inlet pipes P and Q can fill a tank in 10 hours and 12 hours separately. There is an outlet R

that can let out water from the tank fully in 30 hours. If all the pipes are opened simultaneously,

how much time will it take to fill the tank completely?

A) 6 hours 40 minutes B) 6 hours 30 minutes
C) 14 hours 45 minutes D) 5 hours 30 minutes
Answer Key : A Your Response : A (Correct)
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LY, IP, G, (.), TA
A) HD B) DL

C) VT D) IP

Find the missing group of alphabets in the following series.

LY, IP, Gl (...), TA

A) HD B) DL
C) VT D) IP
Answer Key : A Your Response : Not Answered

Question No. 4

Ife 9 9oW 3R 12 wsd, fFeh F 1 4 A & QU X Fhd § AN 4 o7 AR 16 o5 34
HH B 6 T & QU FT Fhat §, aF 6 T 3R 24 w5t A W FA B QU WA H can
A a?

A) 7 &=t B) 4 fea
C) 6 fgeT D) 5 feaT

If 9 men and 12 boys can do a piece of work in 4 days and 4 men and 16 boys can do the same
piece of work in 6 days, how long will 6 men and 24 boys take to complete the same work?

A) 7 days B) 4 days
C) 6 days D) 5days
Answer Key : B Your Response : B (Correct)

Question No. 5

Rl avg 1 SR T §?

A) IE aEJ I SI5cd Biell g B) ¥E T T I Biell gl
| - T 1y e ey o [ T e R e ) ",.w}‘by/ ]




What is the weight of an object?
A) ltis the inertia of the object B) Itis the volume of the object

C) ltis the area occupied by the object D) It is the force with which it is attracted
towards the Earth

Answer Key : D Your Response : D (Correct)

Question No. 6

10 #=f 3 fre T Ter 6 F@EE 1, 3, 2, 5, 8, 6, 4, 7, 1 3K 9 $r MTaF(median) AT
o]

A) 7 B) 4

C) 8 D) 4.5

Find the median value for the number of goals in 10 matches 1, 3, 2, 5, 8,6, 4, 7, 1 and 9.

A) 7 B) 4
C) 8 D) 45
Answer Key : D Your Response : D (Correct)

Question No. 7

fafaf@a SR aF eae @ 96 3iR i T a1 e & 3o} &I

3ms =afFa- M, N, O, P, Q, R, S 3R T, t& 355 & fav & Jeaer AT & =Rt AR &g Hr
IR WFISEIM SFAW AWM AT RE ANF WA MM AT WE P, RS
a0 ¥ qEY T W E, St S 3R M & e 7 For 81 O, N ar Q &1 93l 78t g1

famfaf@a 7 & =l & Q $ir T Bufa &2
A) N & g & gaEl ¥ W/ B) N & a8 3 UshcH sITel H
C) P & g% 3N Ui ey ) H




Eight persons— M, N, O, P, Q, R, S and T are sitting around a circular table for a meeting
facing center. M is second to the right of S who is third to the right of N. P is second to the left of
R who sits between S and M. O is not a neighbour of N or Q.

Which of the following is the CORRECT position of Q?

A) Second to the right of N B) To the immediate right of N
C) To the immediate right of P D) To the immediate left of N
Answer Key : B Your Response : B (Correct)

Question No. 8

fRw arv el F & T Fr A
A) 1321 B) 27
C) 729 D) 125

Find the ODD one out from the given options.

A) 1321 B) 27
C) 729 D) 125
Answer Key : A Your Response : A (Correct)

Question No. 9

IRNSS T qul &9 1 87

A) s3I WoT AT T e B) sf3aa Tl US SAwIdiolhad  HABicithe
FessT

C) sf3uar Joeter Afaeee dcarse fwed D) SeiaAeadl JUhe ATAINRNA Hedse aFea

What is the expansion of IRNSS?

A) Indian Rural Navigation Searching System B) Indian Renal and Nephrological Scientific

Studies
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Answer Key : C Your Response : C (Correct)

Question No. 10

Ffaf@a # & 9 98T #F 2019 F AR W a¥ & AT 9RT 1 969 oo AT u9iita
T =T ar?

A) ST B) feeelr
C) &R D) deeis

Which of the following cities was adjudged India’s cleanest city for the third straight year in
20197

A) Bengaluru B) Delhi
C) Indore D) Chennai
Answer Key : C Your Response : C (Correct)

Question No. 11
A ST A FAlslg T gsf3at & s = 82
A) BER, g, fefear B) &, Usfdel, [¥ew3™
C) I3Td, 3oa, goX D) egHId, gdell, T3

What are the names of the three bones in the middle ear?

A) Femur, hammer, tibia B) Hammer, anvil, stirrup
C) Radius, ulna, hammer D) Humerus, clavicle, stirrup
Answer Key : B Your Response : Not Answered

Question No. 12

ar SAMIT quiiept a, b &1 LCM 1T HAIfaw]

A) 4ab B) ab/2

C) ab D) 2ab




C) ab D) 2ab

Answer Key : C Your Response : C (Correct)

Question No. 13

Pfaf@d F ¥ Fi9 a1 FERSg F SR dF T 87

A) TRET B) TSt

C) sifgar D) qaTem

Which of the following is a popular folk dance of Maharashtra?

A) Garba B) Bhangra
C) Dandiya D) Tamasha
Answer Key : D Your Response : D (Correct)

Question No. 14

'R geeha @, 2019 #r RAvg-a&] +r g7
A) IEHA 3R STerarg aRac= B) #GHIT Sl dTel Flsfeil Pl SGolel &l I
C) Uil & ofra Sfiaet : &l 3 I8 & folw D) I U9 8T - qaif & 9 el A

What is the theme of "World Wildlife Day’, 2019?

A) Wetlands and climate change B) Act to change laws that discriminate
C) Life below water: for people and planet D) Forests and education — learn to love
forests
Answer Key : C Your Response : A (Wrong)

Question No. 15

fgw =17 fewedt § & FEIT F A




0 D)

Find the ODD one out from the given options.

A) B)

o) D)

Answer Key : A Your Response : A (Correct)

Question No. 16

arerrelt 8 et WY worar § 3R MY ard FyeH 5 ey Forar g1 T gF a0 gear & AR 3w
39F W A IR 3o 2 ¥l I a7 I g @ e e & 87

A) cfgror gftas B) 3ccR qd
C) 3T ufoad




is facing north. Which direction is he now from the starting point?

A) South west B) North east
C) North west D) South east
Answer Key : D Your Response : Not Answered

Question No. 17

PleT AT e A RU 1T Hefer & Fafeest dor F qub HEMm?

AT ;e 1 PREIA ; ?
A) HIGUT B) &

C) §usa D) dd

Which word will best complete the relationship given below?

Grain : Stock :: Paper: ?

A) Collection B) Heap
C) Bundle D) String
Answer Key : C Your Response : C (Correct)

Question No. 18

& 9sT P, Q, T & @ IPa-3pa 12 3R 15 RAsie & s|w ad &1 P, 4 @se & T @ler

ST & 3R 9 ¢ @ Sirar €1 A9 HET Y Q g@RT S F fhder FHT eRem?
A) 11 fee B) 9 e
C) 12 faete D) 10 e

Two pipes P, Q can fill a cistern in 12 and 15 minutes separately. P is open for 4 minutes and

turned off. In how much time will the remaining part be filled by Q?

A) 11 minutes B) 9 minutes
C) 12 minutes D) 10 minu;t,es ]
I - S TR b o=k St S T M




Question No. 19
A) ghel B) &e ehferad

C) ST X D) 3REd

o

"Systema Nature" was written by -

A) Haeckel B) Carolus Linnaeus
C) John Ray D) Aristotle
Answer Key : B Your Response : B (Correct)

Question No. 20
farafaf@a 7 & sla a1 vewga e Soft 1 gger deeT 87
A) SuTS B) S
C) W=t D) #Hd=

Which of the following is the first member of alkyne homologous series?

A) Ethyne B) Ethene
C) Propyne D) Methane
Answer Key : A Your Response : D (Wrong)

Question No. 21

I x b x h f3AT arer 997 & | x 0.5b x 0.4h AT dIef d&dl & ®F F FEr Iar & g =
alel d&dl $r &A1 A1 Hiaw]

A) 20 B) 10

C) 4 D) 5

A cuboid with dimensions | x b x h is cut to get planks measuring | x 0.5 b x 0.4 h. How many
planks will you get?
| » eV g ot A Tl 0] [ = ST 0 T ”y ]




Answer Key : D Your Response : A (Wrong)

Question No. 22

forely 3curg 1 fashr W g3m A 25% &1 A F {ew AR AFT A{ed & Al S RER TG
fer s, ar Rras afaria f gifer gefr?

A) 20% T gifer B) 12% @#r grfey
C) 25% & gifex D) 16% & &rfer

The profit on the sale of a product is 25%.What will be the loss per cent, if the values of cost
price and selling price are interchanged?

A) Loss of 20% B) Loss of 12%
C) Loss of 25% D) Loss of 16%
Answer Key : A Your Response : A (Correct)

Question No. 23

qeT ITHETT AT Fgl YT 82
A) GAF B) &IuTer

C) o5 feeelr D) daiget

Where is the Forest Research Institute located?

A) Lucknow B) Bhopal
C) New Delhi D) Dehradun
Answer Key : D Your Response : Not Answered

Question No. 24
frfafad & ¥ freel sftisan Faish saagl sleg aid &2

A) P B) Al

C) Si D) Na




C) Si D) Na

Answer Key : A Your Response : C (Wrong)

Question No. 25

AR MgO + CO— Mg + CO, #, fhT 9 & 3iTeRiIeoT gYar 82
A) FHINRTH B) SIeeT AANTFASS
C) HeAfRre TS D) Fe SS3iTFETSS

In the reaction MgO + CO— Mg + CO,, the substance oxidised is-

A) Magnesium B) Carbon monoxide
C) Magnesium oxide D) Carbon dioxide
Answer Key : B Your Response : B (Correct)

Question No. 26

7T & O Sl a1 Qo1 AT W 7 Ta FREET FF genfa Fwar §2
A) e B) ARTF T
C) B TaHh D) sgHhiaar

N

Which of the following diseases affects the blood cells in the human body?

A) Polio B) Meningitis
C) Small pox D) Leukemia
Answer Key : D Your Response : D (Correct)

Question No. 27

Ife Rt e & 'MISTAKE' #t 9765412 frar Siram & 31K 'RANKED' &1 348120 fa@r sirar
g, ar 38 Fesmwr 7 'DISTANT & & foar seam?

A) 0756485 B) 0765485

C) 0765458 I - Tl e S0y o gy RS0 B :‘«F:“\ .:.\T‘é_'n'_ﬁ"‘,?,‘ ]



coded?

A) 0756485 B) 0765485
C) 0765458 D) 0765845
Answer Key : B Your Response : B (Correct)

Question No. 28

forree 3 grat W F& GreY e 4t 9 §?
A) SBR Uhs UIed & g YT & Felel & B) WX UGl @ gy H U FHIT W

o) e O haed &
C) WX Uard 3% gl A U IHdeR AR D) 38 uardd &I doig ¥ 3R qefier 3rar
HeX T YTl A B 3T g1y T B I &

Why do gymnasts apply some coarse substance on their hands?

A) To increase friction for better grip B) The coarse substance makes the hands
slip on the ground easily

C) The coarse substance gives a shiny, D) The substance causes to sweat more and

beautiful look to their hands the hands become wet

Answer Key: A Your Response : A (Correct)

Question No. 29

T HET H, 3RR JAFASs Hr EaRT &A fHar Srar gl
A) Taferer B) e
C) PIeed AANIFASS D) eIl qee’

In blast furnace, iron oxide is reduced by-

A) Silica B) Carbon
C) Carbon monoxide D) Limestone
Answer Key : C Your Response : C (Correct)
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(a+4),(@-35),(a-25),(-3),(-2), (a+05),(a+5) 3R (a - 0.5).
A) a-25 B) a- 0.75

C) a-1.25 D) a-15

Find the median of the discrete values.
(a+4),(a-3.5),(a-2.5),(a-3), (a-2), (a+0.5), (a+5)and (a-0.5).

A) a-2.5 B) a-0.75
C) a-1.25 D) a-1.5
Answer Key : C Your Response : A (Wrong)

Question No. 31

39 e & TI9 Y, A A H 99 =T (?) & T W ™
S % fore waEfeas 39gFa 2l

&
LB 81

A) B)

0 D)

L2




Choose the alternative that best replaces the question mark(?) in the

given figure.
@l
ENRNEON
L3882 ]
A) B) 1
4
O 5 D)
3
Answer Key : D Your Response : B (Wrong)

Question No. 32

Uh Thel H, Fol oMl H ¥ 12% OF Wl # 38 1 o OEF A F 3/4 TAR Afafafet 7
R @A &, FT BET A A 10% TNT TE A &1 AV 15 S, IRTd Ifafafedt 7 smr =7
AT TG §| STl A For HEAT AT R

A) 500 B) 400

C) 600 D) 450

In a school, 12% of the total number of students are good in sports. 3/4th of the total number of
students are interested in co-curricular activities, 10% of the total number like music. The
remaining 15 students do not want to participate in the above activities. What is the total
number of students?

A) 500 B) 400
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Question No. 33

et & @ Fle7 @1 vard, a9 e A 3TIRT T W FelT SEIHTFAISS 3cesT sTol HIIM?

A) TIFFR B) &

BN

C) Tl TeeR D) afFer @eT

Which of the following substances will NOT give carbon dioxide on treatment with dilute acid?

A) Marble B) Lime
C) Limestone D) Baking soda
Answer Key : B Your Response : Not Answered

Question No. 34

1916 &1 @15 TAGT s & ga3m ar?

A) STRE SO A T 3ifer SR HREow B) sl A e
ot

C) fafeer wwenr 3R 3ifer i3 HREere oier D) #IRAT TS &y 33 fafeer IaR

The Lucknow Pact of 1916 was made between-

A) Indian National Congress and All India B) The moderates and the extremists
Muslim League

C) British Government and All India Muslim D) Indian National Congress and British

League Government

Answer Key : A Your Response : A (Correct)

Question No. 35

AISTeAT AT Y TATIT He Fir 15 A2
A) 1947 B) 1975
C) 1965 D) 1950

\Whaen wae tha Plann’l ... =7 ]



C) 1965 D) 1950

Answer Key : D Your Response : D (Correct)

Question No. 36

fefaf@a gerdt & 3% Heiftie rqadsianl & IR HA # FafeYd HT - S, Hid, g

A) @iE, ael, ag B) arg, 9rl, shiw

C) urf, arg, &iw D) s, arg, drelr

Sort the following materials in ascending order of their respective refractive indices - Water,
Glass, Air.

A) Glass, Water, Air B) Air, Water, Glass
C) Water, Air, Glass D) Glass, Air, Water
Answer Key : B Your Response : A (Wrong)

Question No. 37

Y I&ar #r 10, 9 3T 8 A feEr-3reer AT Fr W HA: 9, 8 3 7 AP F=aT ¢l
398 ¥ 90 O &A1 AT fifaw)

A) 1359 B) 359

C) 719 D) 353

A number when divided by 10, 9 and 8 separately leaves remainders 9, 8 and 7 respectively.
What is the least of such numbers?

A) 1359 B) 359
C) 719 D) 353
Answer Key : B Your Response : B (Correct)

Question No. 38

ﬁ@awwqﬁaﬁ@ﬁm 100 W &l FIT Adeld §?
A) o9 9id B 1 ey A0 [degd Fe a9y




T FT B T &l

What does the power rating 100 W on an electric bulb mean?

A) The bulb consumes electrical energy of B) The bulb consumes electrical energy of

100 Joule per hour 100 Joule per second

C) The bulb consumes electrical energy of D) The bulb consumes electrical energy of
100 kilo Joule per hour 100 Joule per minute

Answer Key : B Your Response : B (Correct)

Question No. 39

TS IAAHR 36T Y ofars 3T =iss & @i &1 36U 3:2 81 i v safea e #r dier
¥ °RT IR 12 fRafeer fr 9 § ARh Feid §U 8 fAde A Uh wER U A &, o
36T F 8 a%d 937 HleX 7 AT i

A) 15360 @ #Hiex B) 307200 @eT #Hrex

C) 30720 T3t #Hiex D) 153600 J9T Hex

The ratio between the length and the breadth of a rectangular park is 3 : 2. If a man cycling
along the boundary of the park at the speed of 12 km/h completes one round in 8 minutes, find
the area of the park in square metres.

A) 15360 m? B) 307200 m?
C) 30720 m? D) 153600 m?
Answer Key : D Your Response : D (Correct)

Question No. 40

e 10.8 FT x% = 32.4 @, df 'X' & AT A HifAv]
A) 200 B) 100

C) 300 D) 400

If x% of 10.8 = 32.4, then find 'X.

AN 92NN M S e TV oy BT e Y G 7 ]



Answer Key : C Your Response : C (Correct)

Question No. 41
AT AR 7 Taq T AG H FHis[g dcd ST A 82
A) TS B) aTeleT
C) wTserste D) Hfeer#

The most abundant element in the human body is-

A) Oxygen B) Carbon
C) Nitrogen D) Calcium
Answer Key : A Your Response : A (Correct)

Question No. 42

TEIHIS & HeHr ol & FhoT AT & IROTATTRT fhadhr @er §57?

A) A H ARG B) Solaclel
C) =ggisT D) wieieT

Rutherford's alpha particles scattering experiment resulted into the discovery of-

A) Nucleus in the atom B) Electron
C) Neutron D) Proton
Answer Key : A Your Response : C (Wrong)

Question No. 43

59 WA #, o HYEl & d1G & fAvhy Qu 1w §1 37 fAspd(eh) A I, S arfhs ®7 @ geifes
39gF &l




2) g STE <ig3n gl &l

s

|. @ R I3 T T

II. w3fr <ige ¥ &

A) o @r sy | 3R 7 € sy || 3ugewd g1 B) del sy || 3uged ¢

C) ae sy | 3uged Bl D) fasy | 3R |l clet g 3ugerd &l

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) No lion is tiger.
2) No tiger is leopard.

Conclusions:
I. No lion is leopard.
Il. All leopards are lions.

A) Neither conclusion | nor Il follows B) Only conclusion Il follows
C) Only conclusion | follows D) Both conclusions | and Il follow
Answer Key : A Your Response : A (Correct)

Question No. 44

wgA W Hlolg F FRRr T ¢, e g § IF o A F @ &ar 2

A) TIGHT &T 9T YH1eT 8T &l B) <GHT I g ¥ Yehrer fferar Bl

C) WgAT YAl & AN 3N gA« a FHH D) I & T dig W 951 § 3R =g &
RN & YT UTed T B g feear g fo@rs ¢ar &1
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A) Moon has it's own light B) Moon gets light from Earth

C) Moon gets light from artificial satellites D) Sunlight falls on moon and the illuminated

revolving around the Earth part of the moon is visible to us

Answer Key : D Your Response : D (Correct)

Question No. 45

G Y g T, ST Ther IRt & afdd Fer 3R R W Ffegd 7 a1 R H &,
3 AT Fgl ST 872

A) 3ERA B) hiferar
C) Ydeall D) o

ol

The structure of the eye which serves to refract and focus light rays upon retina is called -

A) Iris B) Cornea
C) Pupll D) Lens
Answer Key : D Your Response : A (Wrong)

Question No. 46

fArafaf@a & ¥ e 9 fesr Y na A

5/11, 3/15, 12/11, 4/7, 9/12
A) 12711 B) 3/15

C) 4/7 D) 9/12

Find the greatest among these fractions.

5/11, 3/15, 12/11, 417, 9/12
A) 12/11 B) 3/15
C) 4/7 D) 9/12

Answer Key : A Your Resp;(,)nse A (Corr(]ect)
T8 ) e | .'35 /

I - S TR -2 =k




Ife aRg Fr 15 A Biwa gfF arer ader quuT F WHeT 25 J A g W W AT B, o
gfafde $r gfr v 7T &

A) 32.5 T B) 38 @
C) -32.5 ¥ D) -37.5 &Y

If object is placed at 25 cm in front of a concave mirror of focal length 15 cm, then find out the

image distance v.
A) 32.5cm B) 38 cm
C) -32.5cm D) -37.5cm
Answer Key : D Your Response : D (Correct)
Question No. 48
Aofr &1 qot RS

AAZ, FEX, KIU, POQ, (.)
A) UUL B) WUO

C) XUP D) UUR

Complete the series.

AAZ, FEX, KIU, POQ, (...)

A) UUL B) WUO
C) XUP D) UUR
Answer Key : A Your Response : A (Correct)

Question No. 49




A) B)

2 sin 35° 2 sin 10°

0 D)

2 cos 35° 2 cos10°

What is the value of cos 55° + sin 55°?

A) B)
2 sin 35° 2¢in 10°
o) D)
2 cos 35° 2 cos10°
Answer Key : D Your Response : Not Answered

Question No. 50
Prfafaa # ¥ #la o Fap@ § e oF & iaea e Ao §?
A) IR B) X

C) HSell D) @i




A) Pig B) Monkey
C) Fish D) Rabbit

Answer Key : A Your Response : A (Correct)

Question No. 51

s & & Pl @ FHr R 78 82
A) SUTer &g B) faerer senfAa oTepsr
C) HlgY aIT=ir D) &g o

Who among the following is NOT a hockey player?

A) Jaipal Singh B) Mishal Banjamin Lakra
C) Manohar Topno D) Birendra Lakra
Answer Key : B Your Response : Not Answered

Question No. 52

frefaf@a & @ #la a1 i Ru a1v Haer it wafcaer dor § qob Hem?

MOQ : STW :: ACE : ?
A) GHK B) HKG

C) KIH D) HIK

Which of the following will best complete the relationship given below?

MOQ:STW: ACE:?

A) GHK B) HKG
C) KIH D) HIK
Answer Key : A Your Response : A (Correct)
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SATST $.696.30 &1 =T &X AId S|
A) 12.75% B) 13%

C) 10% D) 11%

On a sum of money, the Simple Interest for 2 years is Rs.660 while the Compound Interest for
two years is Rs.696.30, the rate of interest being the same. Find the rate of interest.

A) 12.75% B) 13%
C) 10% D) 11%
Answer Key : D Your Response : D (Correct)

Question No. 54

I X F T+ G, AT XEIRN A3 A1 x2+Bx4)-@4x5+9
HT AT AT HifSC]

A) 3 B) 21

C) 12 D) 9

If 'x' means '+, '+' means 'x' and -' means '+, then find the value of (1 x2) + (3x4)- (4 x5) + 9.

A) 3 B) 21
C) 12 D) 9
Answer Key : B Your Response : B (Correct)

Question No. 55

Aot qof el

540, 270, 90, 45, 15, (..)

A) 7.5 B) 6.8




Complete the series.

540, 270, 90, 45, 15, (...)

A) 7.5 B) 6.8
C) 7.9 D) 6.5
Answer Key : A Your Response : A (Correct)

Question No. 56

Sie Rt JEar A Rt se ganT RAsfoia far Siar §, ot A% 24 sTar §1 59 338 dE
& S 3 Aol gaNT S frar SiTar 8, a ANG 15 Sw=ar §1 e AT H

A) 23 B) 33

C) 9 D) 35

A number when divided by a divisor, leaves a remainder of 24. When twice that number is
divided by the same divisor, the remainder is 15. What is the divisor?

A) 23 B) 33
C) 9 D) 35
Answer Key : B Your Response : C (Wrong)

Question No. 57

3% 31fd 8T & v aRREY disds §aR &1 6 A Bl

A) slesr 3o B) ST aef
C) 8VSB D) LTE

is a standard for wireless broadband communication for high speed data.
A) Dolby digital B) Gpsone

C) 8VSB D) LTE

Answer Kev:D Iy — act)



3 IR ¢ FT AWl Ald T, St 440 e o aer ged & aRT 3K Somr a@w §
iR S dlsrg 7 Aex g

A) 3856 TeT #Hex B) 3204 T #Hex
C) 3900 @ #Hex D) 3234 Tdf #Hex

What is the area of a circular track that runs around a circle with circumference 440 m, having a
width of 7 m?

A) 3856 m? B) 3204 m?
C) 3900 m? D) 3234 m?
Answer Key : D Your Response : Not Answered

Question No. 59

e FT Th ® ¢l
A) efd= B3 B) fderf@sr B2
C) faerfaer B4 D) R B

Niacin is a form of-

A) Vitamin B3 B) Vitamin B2
C) Vitamin B4 D) Vitamin B1
Answer Key : A Your Response : A (Correct)

Question No. 60

et fARae e 3, 'NATION' & 'OCWMTT' for@r siiar §1 38 et & 'COUNTRY" &t
FO orEr sreem?

A) DCXRYCF B) DPXRYXF

C) DQXRYXF D) DCXRYXF

In a certain code, 'NATION' is coded as 'OCWMTT". How would 'COUNTRY" be written in that
code? | S Pt T T T P — ]




C) DQXRYXF

Answer Key : C

D) DCXRYXF

Your Response : C (Correct)

Question No. 61

Ifg 3x - y = 5 &, o 8%/2Y & AT AT ffSw]

A) 32 B) 64
C) 256 D) 16
If 3x - y = 5, find the value of 8%/2Y.

A) 32 B) 64
C) 256 D) 16

Answer Key : A

Your Response : A (Correct)

Question No. 62

R v et 3 F T H P

A) 2:5 B) 1:2
C) 3: 12 D) 4 : 17
Find the ODD one out from the given options.

A) 2:5 B) 1:2

C) 3:12 D) 4:17

Answer Key : C

Your Response : C (Correct)

Question No. 63

UF Al 3R G A WY F OIS 9:2 B G F SeH F AT Al Ay 7Y 28 9§ A g Ay

3y et §72
A) 4 a¥ B) 12 a¥
C) 8 a¥ SD) 6 av

I - I TG TRy e oy B S

W ]



was 28 years. How old is the daughter?

A) 4 years B) 12 years
C) 8years D) 6 years
Answer Key : C Your Response : C (Correct)

Question No. 64

T Al 3R G B I FT GO 12:5 T GH 9§ 910G, Al Ar 3G, 9 F S el aAe A
3eThT 3T T AT AT §?

Ages of a mother and daughter are in the ratio 12 : 6. Ten years hence, she will be twice as old
as her daughter. What is the sum of their ages at present?

A) 85 B) 65
C) 60 D) 75
Answer Key : A Your Response : A (Correct)

Question No. 65

?mﬁwﬁﬁ@a@aﬁ%gﬁ,ﬁ;ﬁﬁmmﬁaﬁﬁwm
|1

= oo % ° ™




Choose from the altermatives the figure that best completes the
pattern given below.

A ool ) ® ®

0 D)

Answer Key : D Your Response : D (Correct)

Question No. 66

"SRt oeg R W ¥ AT 872
A) R B) @il
C) e D) ¢fa

The term "Bogey" is associated with-

A) Swimming B) Hockey

A\ RAIf I, ] D= SRR N / ]



Question No. 67

8 TS st & Frae Tl Y §2

A) 16 B)
19

C) 14 D)
23

How many straight lines are there in the given figure?

A) 16 B)

19

m I - S TR b o=k =y e



Answer Key : C Your Response : C (Correct)

Question No. 68

qU W THS FT Hed W a9 Wlﬁgﬁémwmmﬁ%ﬁv
qu H fE 31ead # 9 e s @ige?

A) B)

0 D)

In what ratio should water be mixed with some milk to gain 16

Lo b
~ O
32

on selling it at cost price?

A) B)

0 [ e e T o S



Answer Key : D Your Response : D (Correct)

Question No. 69
YA Sl Ov Tt g Tt & gfader o R yera giar 82
A) &HH g e gl B) 3msifdd el &
C) sed gl D) #ervg g St &l

What happens to the resistance of all pure metals on raising the temperature?

A) Decreases B) Remains unaffected
C) Increases D) Becomes negligible
Answer Key : C Your Response : C (Correct)

Question No. 70

i@ IRt 3 &t & 96 3R A Re 1w 9ReT Fr 3ca’ &I

ad afFadt - P, Q, R, S, T, U 31X V & 3eR1-31e1eT @ - AREM, e, @b, ofel, g1, Slelr
3 dror g 8, ofhed SI&0 8T & 8@ FF #H gl 37 @l B 3reer-3reer Qe § (A 3%
S&d 7T 6 58 w7 BN

S @ i # olw &1 O @fdel @ ole & 3@ o o1 gdg &1 P @ drar o1 gde
o &R &7 ele &, 38 o T wWg §1 U 9 siteraer &7 ol &1 S 3R U, Qe @ & Frer
B g At §1 O e 3R ke @ el &, 3@ rew v gwg A A

P & &ty & et gt &1 O dudhr @ old &, 3@ areh 3 abe o1 gvig A §; S A
WﬁmmaﬁﬁlTmraﬁaﬁrsﬁalgm%maaaﬂafréﬂafrwwmﬂﬁ%lv




afaf@a 7 O R & #r ote 82
A) P B) V

C) R D) Q

Read the following information carefully and answer the question given below.

Seven persons— P, Q, R, S, T, U and V like different colours—orange, blue, white, red, green,
black and yellow, but not necessarily in the same order. They all have different hobbies (or they
like different activities) driving, swimming, sailing, shopping, running, dancing and camping, but
not necessarily in the same order.

The hobby of S is driving. The one whose hobby is shopping likes red colour. P likes yellow
colour. The one whose hobby is camping likes green colour. The hobby of U is sailing. Neither
S nor U likes black colour. The one whose hobby is dancing, and swimming does not like black
colour. The hobby of P is not swimming. The one whose hobby is swimming does not like
orange and white colour; S does not like orange colour. The hobby of T is neither running nor
shopping. T does not like green colour. V does not like green and black colour. The hobby of Q
is not camping.

Who among the following has the hobby of camping?

A) P B) V
C) R D) Q
Answer Key : C Your Response : Not Answered

Question No. 71

A) B)

157/68 :

_ GQH =G



o) D)

5/46 21/110
1
Evaluate: —
2+
L1
37—1
4+=
[}
A) B)
157/68 G157
0 D)
5/46 21/110

Answer Key : B Your Response : B (Correct)

Question No. 72
S A PieT, T TARI AHicesT A TERT T ARAT FAfoe FiSdar 87

A) FBeaRea TR B) V. Afgsr AR
C) uafaar gfas D) #ET Uree

Who among the following is an Indian social activist associated with Narmada Bachao

Andolan?

A) Silverine Swer B) V. Mohini Giri

C) Patricia Mukhim D) Medha I;atkar ]
M e
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Question No. 73
Frfaf@a # & i @ e era F ae & Gem?

A) faTer B) 4rael &AIST fdeideT
C) el I Tleir D) Sfer Aer Aot

Which of the following will turn blue litmus red?

A) Vinegar B) Washing soda solution
C) Limewater D) Baking soda solution
Answer Key : A Your Response : A (Correct)

Question No. 74

3H NPT H TAT W, S HEAIET A0 % @ % "Ew @
Welfeor® &1 W fAwie T @l

eTeg, TR, JUTHTS, aalwq

A) B)

) D)

Choose the figure that best represents the relationship among the
classes given below.
Word, Sentence, Alphabet, Paragraph




0 D)

Answer Key : D Your Response : D (Correct)

Question No. 75
Ife ey eafer ader #r 3ngfaT 50 &&aT &, o SHM Macsle AT R
A) 0.02 OFs B) 0.2 33
C) 0.05 @3 D) 0.5 ¥%s

If the frequency of a sound wave is 50 Hz, then what is its time period?

A) 0.02s B) 0.2s
C) 0.05s D) 0.5s
Answer Key : A Your Response : B (Wrong)

Question No. 76

HgaAe A |

A) T Ielelh 3R FaUATh oot giar & B) Sod & el

C) faegd & Farel gid & D) S+ dlel WA & goldreial $h ATigRT
ARl &e1d §

Covalent compounds-

A) Have low meltin

b /r,\r.\tir_\ r:\.%



Answer Key : B Your Response : B (Correct)

Question No. 77

HAT oidS 6T &F ¢of Ueh ollamd URE & IR el & AT Haer: 10 A6s 3R 15 Vs & 965y
el §1 I T &1 Fr eierg 120 AT §, o 9 TAeda R 7 I T g fhee @HT A
G FT AR FHE?

A) 15 THs B) 12 @%s
C) 10 Ths D) 20 d%s

Two trains of equal lengths take 10 seconds and 15 seconds respectively to cross a telegraph
post. If the length of each train is 120 m, in what time will they cross each other traveling in the
opposite direction?

A) 15 seconds B) 12 seconds
C) 10 seconds D) 20 seconds
Answer Key : B Your Response : D (Wrong)

Question No. 78

g% B8 ¥ B8 wE& wia S, oY 1780 #F Siser 9X wree et qut &9 8

A) 72 B) 69

C) 49 D) 46

Find the least number to be added to 1780 to make the sum a perfect square.

A) 72 B) 69
C) 49 D) 46
Answer Key : B Your Response : B (Correct)

Question No. 79

fefaf@d Jofr 7 sequfeafa seR @ Aa fifse

| - 0§ B b AT i3 = ) A T | ',;y/ ]



A) GT B) DP

C) WC D) OM

Find the missing group of alphabets in the following series.

JD, LI, (...), SP, XR

A) GT B) DP
C) WC D) OM
Answer Key : D Your Response : D (Correct)

Question No. 80
AT el P & 30 2 82
A) TSIH B) dicirTe
C) HIEHRA D) dfehfazaT

The chemical symbol P stands for-

A) Palladium B) Potassium
C) Phosphorus D) Polonium
Answer Key : C Your Response : C (Correct)

Question No. 81

39 WA A, de FYal & a1 st R aw §l 3 swiEh) #@r g4, S aifde @
HaferF 3ugFd &l

1) $& Flc IJAEHE Bl

~ AL A0 £ J - B e A el ] e = ol Ry T ",r}my/ ]




IGL=D P

l. 7 & FH TS FA FIC B

Il. FE IUEHT FFRT 74T Bl

A) fassy | 311 St & 3ugerd B) hdel forsehy Il 3ugerd B

C) Fad forsey | 3ugea gl D) o o fossny | 3k & & ey || 3ugea gl

In this question, three statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:

1) Some flats are apartments.
2) No apartment is a hall.

3) Some halls are rooms.

Conclusions:
|. At least some rooms are flats.
Il. No apartment is a room.

A) Both conclusions I and Il follow B) Only conclusion Il follows
C) Only conclusion | follows D) Neither conclusion | nor |l follows
Answer Key : D Your Response : D (Correct)

Question No. 82

%.800 & AR FURYT AT i T ARET g W 3 anf & $.956 g s §1 I saer $ir aT
4% 9¢ ST &, ar $.800 Fr TR 3 auf #F fhae g smeaf?

A) %.1020.80 B) %.1054

C) %.1052 D) %.1025
I ” 0§ B b AT i3 = ) A T | ',;y/ ]




A) Rs.1020.80 B) Rs.1054
C) Rs.1052 D) Rs.1025

Answer Key : C Your Response : C (Correct)

Question No. 83

HICT-319T AT HEY ol
A) WfFesd 3T B) @
C) Helal D) ddelel

The organ of Corti is concerned with-

A) Lactic acid B) Seeing
C) Hearing D) Balancing
Answer Key : C Your Response : Not Answered

Question No. 84

AT g #T 3] FHg Fh TeT ¢| a8 U g3 A GAF SWAT ¢, Ig 3 Fof I GAY @ B
He 3R fere @ geai s fhw R A 3k 3P w87

A) 99 3R 3ea B) afaror 3R qd
C) gf@or 3R gfeaH D) 9f¥as 3R 3caX

Mani is facing east. He looks time in his watch, it shows as 3 O'clock. Which direction do hour
and minute hands point respectively?

A) East and north B) South and east
C) South and west D) West and north
Answer Key : B Your Response : A (Wrong)

Question No. 85

dr AfRaa EI‘QTS:INT #, 'ABC DEF' & 'ZYX WVU' fa@r Jrar g1 3dr ajaw # 'ADULT' &I




C) ZWFOG D) ZFWOU

In a certain code, 'ABC DEF' is written as 'ZYX WVU'. How would ‘ADULT' be written in that
code?

A) ZwWUoOu B) ZWFOR
C) ZWFOG D) ZFWOU
Answer Key : C Your Response : C (Correct)

Question No. 86

¥ 3R D @ R S T 35T ¢l
A) TSI fAsmor B) Hemdi fAHor
C) faelgsT (Suspension) D) @lalsal [dere

A mixture of sand and sugar is an example of-

A) Heterogeneous mixture B) Homogeneous mixture
C) Suspension D) Colloidal solution
Answer Key : A Your Response : A (Correct)

Question No. 87

‘AT S aw’ FT AT AT 87
A) 20 AT B) 22 AT
C) 23 AT D) 21 &

When is 'World Water Day' observed?

A) March 20 B) March 22
C) March 23 D) March 21
Answer Key : B Your Response : Not Answered

Ouaroction Ao 0O _
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A) giaror 9fegs B) 3ccR 94
C) 3caR uftas D) afar qa

Hema starts from her home eastward in order to go to school. She took right turn and took left
to reach school. Which direction was her school from home?

A) South west B) North east
C) North west D) South east
Answer Key : D Your Response : D (Correct)

Question No. 89

Ifg '0' vk et ABC &7 9R#AMT § 3R OD,BC W o« §, dr Fior
£BOD I A AT FHITT|

A) B)

900' if:k ZLA.

C) D)

ZA (1/2)2A

If 'O is the circumcentre of a triangle ABC and OD is perpendicular to

BC, then find 2BOD.

A) B)




90°- LA 24A

0 D)

LA (1/2)2A

Answer Key : C Your Response : C (Correct)

Question No. 90
AR &1 BT T T Ta die W § v 9fig 82

A) HERTSC B) 3Ter ucer
C) e D) e

Which state of India is famous for the snake boat races?

A) Maharashtra B) Andhra Pradesh
C) Kerala D) Karnataka
Answer Key : C Your Response : C (Correct)

Question No. 91

T T AEY I YE T AGI 7 Foa 10 e aF, wE Hr g3 TR

A) 215° B) 60°

C) 210° D) 200°

A clock started at noon. By 10 minutes past 7, the hour-hand will move through

A) 215° B) 60°

N\ 21N° I . B e A el ] e = ol Ry T ",.w}‘by/ ]



Question No. 92

T v RAwedt & F T F T
A) B B) D
C) E D) P

Find the ODD one out from the given options.

A) B B) D
C) E D) P
Answer Key : C Your Response : C (Correct)

Question No. 93

AT F A Sl I@1 2R, NAN 7 & de W aa &2

A) TGS B) TORRIS

C) InfeiamErg D) &9

o]

Which of the following cities is located on the banks of the river Gomati?

A) Lucknow B) Prayagraj
C) Ghaziabad D) Kanpur
Answer Key: A Your Response : A (Correct)

Question No. 94

ECG gaRT 3caifed fiedd Fet P Hegy e &l
A) &I B) de
C) HATETSH D) Jar

ECG senses the electrical forces produced by-

A) Heart B) Stomach

C) Brain | . I TG TRy e oy B S ‘3‘.4—?1 \ .; : ,-,p}‘”y/ ]



Question No. 95

3131} $r Foig ¥ 39T gler arelr SFId Bl
A) SIET @ olel B) URRITFH & AT A1d
C) 3MISIT T el D) drvqut afg gl

Goitre is a disease caused by-

A) Overeating B) Excessive secretion of thyroxin
C) Deficiency of iodine D) Defective growth hormone
Answer Key : C Your Response : C (Correct)

Question No. 96
ardrr Felt wIEt F Shane $ua A fhw et A fega Fer F aqer ST §?
A) rEEfAsd Fel B) AR ol

C) STorfaegd ot D) &Rk e

Which energy of fossil fuel is transformed into electrical energy at thermal power plants?

A) Chemical energy B) Tidal energy
C) Hydro electric energy D) Solar energy
Answer Key : A Your Response : C (Wrong)

Question No. 97
fArfaf@a & & =l ar 3o @ wenfad war 82

A) Sifelh B) &AT

C) #gasT D) Fuifesensted

Which of the following affects the stomach?
A) Colic B) Asthma

C) Migraine O Sy |

LR




Question No. 98

.60 i oETT el 20 U9AT H, F.25 H 5 F oG 9T 99T AT 2
giaerg o g Hi=e]

A) B)

33=% 25%

0) D)

-
50/ 66=%
15% 3

20 pens costing Rs.60 are sold at 5 pens for Rs.25. What is the
profit per cent?

A) B)

33—% 25%

) D)

5
15% 665%

Answer Key : D Your Response : D (Correct)




(1213 + 12) Fr 13 ¥ AT FT W Ied BT AT HifSw]
A) 2 B) 1

C) 12 D) 11

Find the remainder when (1213 + 12) is divided by 13.

A) 2 B) 1
C) 12 D) 11
Answer Key : D Your Response : A (Wrong)

Question No. 100

us 300 HieT @ dis A, P, Q & 22.5 HieT A1 6 s ¥ & & §1 Q @R &5 @ FeT A
forar I/ w7 AT H:

A) 76 dHs B) 78 d%s
C) 80 Tehs D) 86 @&s

In a 300 m race, P beats Q by 22.5 m or 6 seconds. What is Q's time over the course?

A) 76 seconds B) 78 seconds
C) 80 seconds D) 86 seconds
Answer Key : C Your Response : A (Wrong)




